










There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E and F 
are facing north and other six P, Q, R, S, T, and U are facing south. Each person from 
one row faces exactly one person from the other row but not necessarily in the same 
order. A and R sits diagonally opposite to each other. There are two persons sitting 
between R and Q. One of the immediate neighbors of Q faces C, who does not sit near 
A. P faces B and P is not an immediate neighbor of Q. There are two persons sitting 
between B and D. T sits second to the right of U. E does not sit at any of the extreme 
ends. S and T is not an immediate neighbor of each other. A sits at one of the extreme 
ends.

दो समानाांतर पांक्तियों में बारह व्यक्ति बैठे हैं। छह व्यक्ति A, B, C, D, E और F उत्तर की ओर उन्मखु हैं और 
अन्य छह P, Q, R, S, T और U दक्तिण की ओर उन्मखु हैं। एक पांक्ति के प्रत्येक व्यक्ति का मखु दसूरी पांक्ति
के ठीक एक व्यक्ति की ओर ह ैलेक्तकन आवश्यक नहीं इसी क्रम में हो । A और R एक दसूरे के क्ततरछे क्तवपरीत 
बैठे हैं। R और Q के बीच दो व्यक्ति बैठे हैं। Q के क्तनकटतम पडोक्तसयों में से एक C की ओर उन्मखु ह,ै जो A 
के क्तनकट नहीं बैठता ह।ै P का मखु B की ओर ह ैऔर P, Q का क्तनकटतम पडोसी नहीं ह।ै B और D के बीच 
दो व्यक्ति बैठे हैं। T, U के दायें से दसूरे स्थान पर बैठा ह।ै E क्तकसी ीी अांक्ततम छोर पर नहीं बैठा ह।ै S और T 
एक दसूरे के क्तनकटतम पडोसी नहीं ह.ै A क्तकसी एक अांक्ततम छोर पर बैठा ह।ै



There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E 
and F are facing north and other six P, Q, R, S, T, and U are facing south. Each 
person from one row faces exactly one person from the other row but not 
necessarily in the same order. A and R sits diagonally opposite to each other. 
There are two persons sitting between R and Q. One of the immediate 
neighbors of Q faces C, who does not sit near A. P faces B and P is not an 
immediate neighbor of Q. There are two persons sitting between B and D. T 
sits second to the right of U. E does not sit at any of the extreme ends. S and T 
is not an immediate neighbor of each other. A sits at one of the extreme ends.



4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

How many odd numbers are there which are immediately preceded by 

a perfect square? 

ऐसी क्तकतनी क्तवषम सांख्याए ँहैं क्तजनके ठीक पहले एक पणूण व्ण ह?ै

1. One 

2. Two 

3. Three 

4. Four 

5. More than four



4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

Which of the following number will be seventh to the right 
of tenth number from the left? 

क्तनम्नक्तलक्तखत में से कौन-सी सांख्या बायें से दसवीं सांख्या के दायें से सातवीं 
हो्ी?

1. 1 

2. 5 

3. 3 

4. 6 

5. 7



4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

If all the even numbers are dropped, which number will be ninth to the 
left of fifteenth number from the left? 

यक्तद सीी सम सांख्याओ ां को हटा क्तदया जाए, तो कौन सी सांख्या बाई ां ओर से पांद्रहवीं सांख्या 
के बाई ां ओर नौवीं हो्ी?

1. 1

2. 3 

3. 5 

4. 7 

5. 9



4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7

How many odd numbers are there which are immediately 
preceded by perfect cube and followed by perfect square? 

ऐसी क्तकतनी क्तवषम सांख्याए ँहैं क्तजनके ठीक पहले पणूण घन और बाद में पणूण व ण्
ह?ै

1. None 

2. One 

3. Two 

4. Three 

5. Four



Three generations of people live together. There are 12 members in the family viz. M, N, 
O, P, Q, R, S, T, U, V, W and X who went out for a picnic. R and Q are kids of T and S. 
V, who is the father in law of W, is the paternal uncle of R. T has a son and a daughter. P 
is the husband of O. O is the daughter of Q. M is the brother of N. R is married to U. 
Father of N is U who has only one daughter. S is the father in law of U. W is the wife of 
X. 

लो्ों की तीन पीक्त़ियाां एक साथ रहती हैं। पररवार में 12 सदस्य हैं अथाणत M, N, O, P, Q, R, S, T, U, V, 
W और X जो क्तपकक्तनक के क्तलए बाहर ्ए थे। R और Q, T और S के बच्चे हैं। V, जो W का ससरु ह,ै R का 
चाचा ह।ै T का एक बेटा और एक बेटी ह।ै P, O का पक्तत ह।ै O, Q की पतु्री ह।ै M, N का ीाई ह।ै R का क्तववाह 
U से हुआ ह।ै N का क्तपता U ह,ै क्तजसकी केवल एक पतु्री ह।ै S, U का ससरु ह।ै W, X की पत्नी ह।ै

Four of the five are alike in a certain way and hence form a group. Which one the 
following doesn’t belong to the group? 

पाांच में से चार एक क्तनक्तित तरीके से समान हैं और इसक्तलए एक समहू बनाते हैं। क्तनम्नक्तलक्तखत में से कौन समहू से
सांबांक्तित नहीं ह?ै

1. Q 2. P 3. O 4. M 5. N



Three generations of people live together. There are 12 members in the family viz. 

M, N, O, P, Q, R, S, T, U, V, W and X who went out for a picnic. R and Q are kids 

of T and S. V, who is the father in law of W , is the paternal uncle of R. T has a son 

and a daughter. P is the husband of O. O is the daughter of Q. M is the brother of N. 

R is married to U. Father of N is U who has only one daughter. S is the father in law 

of U. W is the wife of X. 



How many such pairs of letters are there in the word 

‘PAGINATE’, each of which has as many letters between them 

in the word (both forward and backward direction) as they have 

between them in the English Alphabet? 

शब्द 'PAGINATE' में अिरों के ऐसे क्तकतने यगु्म हैं, क्तजनमें से प्रत्येक के बीच 

शब्द में (आ्े और पीछे दोनों क्तदशाओ ां में) उतने ही अिर हैं क्तजतने उनके बीच 

अांग्रेजी वणणमाला में हैं?

1. One 2. Two 3. Three 4. Four 5. More than four



1. If only conclusion I follows. 

2. If only conclusion II follows. 

3. If either conclusion I or II follows. 

4. If neither conclusion I nor II follows. 

5. If both conclusions I and II follow.

1. यक्तद केवल क्तनष्कषण I अनसुरण करता ह।ै 

2. यक्तद केवल क्तनष्कषण II अनसुरण करता ह।ै 

3. यक्तद या तो क्तनष्कषण I या II अनसुरण करता ह।ै 

4. यक्तद न तो क्तनष्कषण I और न ही II अनसुरण करता ह।ै 

5. यक्तद क्तनष्कषण I और II दोनों अनसुरण करते हैं।



Statements: 

Few N are G. 

All G are T. 

Conclusions: 

I. All N being T is a possibility. 

II. Some T are G. 

कथन: 

कुछ N, G हैं। 

सीी G, T हैं। 

क्तनष्कषण: 

I. सीी N के T होने की सांीावना ह।ै

II. कुछ T, G हैं।



Statements: 

Few N are G. 

All G are T. 

Conclusions: 

I. All N being T is a possibility. 

II. Some T are G. 



Statements: 

No cap is a stool. 

Few stools are tables. 

Conclusions: 

I. Some tables are not caps. 

II. All caps being tables is a 

possibility.

कथन: 

कोई कैप स्टूल नहीं ह।ै 

कुछ स्टूल टेबल हैं। 

क्तनष्कषण: 

I. कुछ टेबल कैप नहीं हैं। 

II. सीी कैप के टेबल होने की 

सांीावना ह।ै



Statements: 

No cap is a stool. 

Few stools are tables. 

Conclusions: 

I. Some tables are not caps. 

II. All caps being tables is a 

possibility.



Statements :

Only a few watches are electric 

No watches are ring 

Conclusions :

I. Some electric are ring

II. Some electric can never 

be ring.

कथन: 

केवल कुछ घक्तडयाँ इलेक्तरिक हैं

कोई घक्तडयाँ ररां् नहीं हैं 

क्तनष्कषण: 

I. कुछ इलेक्तरिक ररां् हैं 

II. कुछ इलेक्तरिक कीी ररां् नहीं हो

सकते।



Statements :

Only a few watches are electric 

No watches are ring 

Conclusions :

I. Some electric are ring

II. Some electric can never 

be ring.



Statements: 

Only a few Hairs are White 

Only a few White are Sky 

Conclusions: 

I. All Hair are Sky 

II. Some Hairs are not Sky.

कथन: 

केवल कुछ बाल सफेद हैं 

केवल कुछ व्हाइट स्काई हैं

क्तनष्कषण: 

I. सीी हयेर स्काई हैं

II. कुछ हयेर स्काई नहीं हैं.



Statements: 

Only a few Hairs are White 

Only a few White are Sky 

Conclusions: 

I. All Hair are Sky 

II. Some Hairs are not Sky.



Statements: 

All black are green. 

Only a few greens are good. 

Some good are bad. 

Conclusions: 

I. No black is good. 

II. No green is bad.

कथन: 

सीी ब्लैक ग्रीन हैं. 

केवल कुछ सा् अच्छे हैं। 

कुछ अच्छे बरेु हैं। 

क्तनष्कषण: 

कोई काला अच्छा नहीं ह।ै

कोई ग्रीन बैड नहीं ह.ै



Statements: 

All black are green. 

Only a few greens are good. 

Some good are bad. 

Conclusions: 

I. No black is good. 

II. No green is bad.



1. If only conclusion I follows. 

2. If only conclusion II follows. 

3. If either conclusion I or II follows. 

4. If neither conclusion I nor II follows. 

5. If both conclusions I and II follow.

1. यक्तद केवल क्तनष्कषण I अनसुरण करता ह।ै 

2. यक्तद केवल क्तनष्कषण II अनसुरण करता ह।ै 

3. यक्तद या तो क्तनष्कषण I या II अनसुरण करता ह।ै 

4. यक्तद न तो क्तनष्कषण I और न ही II अनसुरण करता ह।ै 

5. यक्तद क्तनष्कषण I और II दोनों अनसुरण करते हैं।



Statement: 

B > E ≤ L ; A = T ≥ S; K < L ≤ O ≤ A < I 

Conclusion: 

I. E = T 

II. E < T 



Statements: 

G < I ≥ H = J, I < U = P 

Conclusions: 

I. G > P 

II. P > J



Statements: 

K ≤ L = M < D ≤ T ≥ R > W = Q 

Conclusions:

I. D > W 

II. M < R 



Statement: 

M > N < O ≤ P; S ≥ R > Q = P 

Conclusion: 

I. S ≥M 

II. S < M



Statement: 

R ≥ T = Q < M; S ≥ R 

Conclusions: 

I. M < R 

II. S ≥ Q



A certain number of people are sitting in a row facing towards the north. X 
is sitting second from the right end of the row. Five persons are sitting 
between X and P. C is sitting immediate right of P. E is sitting third to the 
right of C. Seven persons are sitting to the left of E. A is sitting on one of 
the extreme ends but not sitting immediately right of X. T is sitting eighth 
to the right of A and immediately left of X. Y is sitting second to the right 
of T. Four persons are sitting between Y and R.

एक क्तनक्तित सांख्या में व्यक्ति उत्तर की ओर मखु करके एक पांक्ति में बैठे हैं। X पांक्ति के 
दायें छोर से दसूरे स्थान पर बैठा ह।ै X और P के बीच पाांच व्यक्ति बैठे हैं। C, P के
ठीक दायें बैठा ह।ै E, C के दायें से तीसरे स्थान पर बैठा ह।ै E के बायीं ओर सात 
व्यक्ति बैठे हैं। A क्तकसी एक अांक्ततम छोर पर बैठा ह ैलेक्तकन X के तरुांत दायें नहीं बठैा 
ह।ै T, A के दायें से आठवें और X के ठीक बायें बैठा ह।ै Y, T के दायें से दसूरे स्थान 
पर बैठा ह।ै Y और R के बीच चार व्यक्ति बैठे हैं। 



A certain number of people are sitting in a row facing towards the north. X 
is sitting second from the right end of the row. Five persons are sitting 
between X and P. C is sitting immediate right of P. E is sitting third to the 
right of C. Seven persons are sitting to the left of E. A is sitting on one of 
the extreme ends but not sitting immediately right of X. T is sitting eighth 
to the right of A and immediately left of X. Y is sitting second to the right 
of T. Four persons are sitting between Y and R.



There are seven persons - A, B, C, D, E, F and G. They are going 

market to purchase some items. Only Three persons reach before 

D. E reach before F and G but F is not the last person. G reached 

before F. A reach before C but after D. C is not the last person.

सात व्यक्ति हैं - A, B, C, D, E, F और G । वे कुछ वस्तओु ां को खरीदने के 

क्तलए बाजार जा रह ेहैं। केवल तीन व्यक्ति D से पहले पहुांचते हैं। E, F और G से 

पहले पहुांचता ह ैलेक्तकन F अांक्ततम व्यक्ति नहीं ह।ै G, F से पहले पहुांचा। A, C से 

पहले पहुांचता ह ैलेक्तकन D के बाद। C अांक्ततम व्यक्ति नहीं ह।ै



There are seven persons - A, B, C, D, E, F and G. They are going 

market to purchase some items. Only Three persons reach before 

D. E reach before F and G but F is not the last person. G reached 

before F. A reach before C but after D. C is not the last person.



There are 10 members in the family who are sitting at some distance from 

each other in a park. N is 4 m in the west of M, who is 5 m in the north of O. 

Q is 12 m in the west of R. T is 3 m in the west of S, which is 12 m in the 

south of R. O is 6 m in the east of V, which is 2 m in the north of P, which is 

8 m in the west of U. T is 1 m in the south of U. 

पररवार में 10 सदस्य हैं जो एक पाकण  में एक दसूरे से कुछ दरूी पर बैठे हैं। N, M के पक्तिम में 4 मीटर

ह,ै जो O के उत्तर में 5 मीटर ह।ै Q, R के पक्तिम में 12 मीटर ह।ै T, S के पक्तिम में 3 मीटर ह,ै जो R के

दक्तिण में 12 मीटर ह।ै O, V के पवूण में 6 मीटर ह,ै जो P के उत्तर में 2 मीटर ह,ै जो U के पक्तिम में 8 

मीटर ह।ै T, U के दक्तिण में 1 मीटर ह।ै

In which direction is U with respect to M? /M के सन्दीण में U क्तकस क्तदशा में ह?ै

1. North 2. East 3. South-East 4. North-West 5. None of these



There are 10 members in the family who are sitting at some distance from each 

other in a park. N is 4 m in the west of M, who is 5 m in the north of O. Q is 12 m 

in the west of R. T is 3 m in the west of S, which is 12 m in the south of R. O is 6 

m in the east of V, which is 2 m in the north of P, which is 8 m in the west of U. 

T is 1 m in the south of U. 



Seven persons are working in the same 

company on different designations. The person 

working on that designation is named P, Q, R, 

S, T, U, and V but not necessarily in the same 

order. They have different designations starting 

from the clerk, officer, Assistant Manager, 

manager, Assistant General manager, General 

manager, and Director. Director is the topmost 

post of the company and the clerk is the 

lowermost post of the company. Only four 

persons sit between P and Q. P is not working 

at a position of officer nor as a clerk. There are 

two designations between R and S. R is senior 

to S. R is a General manager or Director. More 

than two designations are there between T and 

U. U is working as a designation of clerk in the 

company.

सात व्यक्ति एक ही कां पनी में क्तवक्तीन्न पदनामों पर काम 

कर रह ेहैं। उस पद पर काम करने वाले व्यक्ति का नाम P, 

Q, R, S, T, U और V ह ैलेक्तकन जरूरी नहीं क्तक इसी 

क्रम में हो। उनके पास रलकण , अक्तिकारी, सहायक 

प्रबांिक, प्रबांिक, सहायक महाप्रबांिक, महाप्रबांिक और 

क्तनदशेक से शरुू होने वाले अल्-अल् पद हैं। क्तनदशेक 

कां पनी का सवोच्च पद होता ह ैऔर रलकण  कां पनी का 

सबसे क्तनचला पद होता ह।ै P और Q के बीच केवल चार 

व्यक्ति बैठे हैं। P न तो अक्तिकारी के पद पर और न ही 

रलकण  के रूप में कायण कर रहा ह।ै R और S के बीच दो 

पद हैं। R, S से वररष्ठ ह।ै R एक महाप्रबांिक या क्तनदशेक 

ह।ै T और U के बीच दो से अक्तिक पद हैं। U कां पनी में 

रलकण  के पद पर कायणरत ह।ै



Seven persons are working in the same 

company on different designations. The person 

working on that designation is named P, Q, R, 

S, T, U, and V but not necessarily in the same 

order. They have different designations starting 

from the clerk, officer, Assistant Manager, 

manager, Assistant General manager, General 

manager, and Director. Director is the topmost 

post of the company and the clerk is the 

lowermost post of the company. Only four 

persons sit between P and Q. P is not working 

at a position of officer nor as a clerk. There are 

two designations between R and S. R is senior 

to S. R is a General manager or Director. More 

than two designations are there between T and 

U. U is working as a designation of clerk in the 

company.



Eight persons lives in a building having four 

floors where ground floor is numbered as 1, the 

floor just above it is numbered as 2 and so on 

till the topmost floor which is numbered as 4. 

Each floor is having two flats i.e., Flat-A and 

flat-B. Flat-A of floor-2 is exactly above the 

flat-A of floor-1 and exactly below the flat-A of 

floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap is 

there between P and J. P and J lives on different 

flats. M lives exactly towards the east of N. R 

lives immediately below N. R and N lives on 

same flat. D lives above O and below K. K lives 

on flat-A.

आठ व्यक्ति चार मांक्तजलों वाली एक इमारत में रहते हैं जहाँ 

सबसे क्तनचली मांक्तजल की सांख्या 1 ह,ै उसके ठीक ऊपर वाली 

मांक्तजल की सांख्या 2 ह ैऔर इसी क्रम में आ्े ब़िते हुए सबसे 

क्तनचली मांक्तजल की सांख्या 4 ह।ै प्रत्येक मांक्तजल में दो फ़्लैट, 

अथाणत फ़्लैट-A और फ्लैट-B हैं। मांक्तजल-2 का फ्लैट-A, 

मांक्तजल-1 के फ्लैट-A के ठीक ऊपर ह ैऔर मांक्तजल-3 के 

फ्लैट-A के ठेक नीचे ह।ै फ्लैट-B, फ्लैट-A के पवूण में ह।ै

P से नीचे कोई नहीं रहता ह।ै P और J के बीच में केवल दो 

मांक्तजलों का अांतर ह।ै P और J अल्-अल् फ्लैटों पर रहता 

ह।ै M, N के ठीक पवूण में रहता ह।ै R, N के ठीक नीचे रहता 

ह।ै R और N एक ही फ्लैट में रहते ह।ै D, O से ऊपर और K 

से नीचे रहता ह।ै K फ्लैट-A में रहता ह।ै



Eight persons lives in a building having four 

floors where ground floor is numbered as 1, the 

floor just above it is numbered as 2 and so on 

till the topmost floor which is numbered as 4. 

Each floor is having two flats i.e., Flat-A and 

flat-B. Flat-A of floor-2 is exactly above the 

flat-A of floor-1 and exactly below the flat-A of 

floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap is 

there between P and J. P and J lives on different 

flats. M lives exactly towards the east of N. R 

lives immediately below N. R and N lives on 

same flat. D lives above O and below K. K lives 

on flat-A.



If it’s possible to make a meaningful word from 1st, 2 , 7 , and 8 

letters of the word 'ARCHITECT', then which will be the first 

letter of the word? Mark ‘X’ if no such word can be formed, ‘M’ 

if more than 1 such word can be formed. 

यक्तद शब्द 'ARCHITECT' के 1, 2, 7, और 8 अिरों से एक अथणपणूण शब्द 

बनाना सांीव ह,ै तो शब्द का पहला अिर कौन सा हो्ा? यक्तद ऐसा कोई शब्द 

नहीं बनाया जा सकता ह ैतो 'X' क्तचक्तित करें, यक्तद 1 स ेअक्तिक ऐसे शब्द बन 

सकते हैं तो 'M'।

1. R 2. A 3. C 4. E 5. M


